Exam for excellent student 
                                             Biology  Grade 9
A. Threads:

I. Multiple choices

Choose the best answer A, B or C to complete each of the following sentences.
Question 1: 150 DNA molecule replication conduct. Asked 3 times after the DNA is duplicated numbers:
A. 750 ADN molecules. 
B.850 ADN molecule.

C.900 AND molecules
D.1200 ADN molecule.

Question 2: When breeding the parents differ in two pairs of contrasting traits genetically pure independent of each other, then at the F2:

A. 1 phenotype
B. 2 phenotypes
C. 3 phenotypes
D. 4 phenotypes
Question 3: Polyploidy mutants are mutants:

A. The chromosomes were excessive or lack some chromosomes chromosome 
B. chromosome structure is altered.
C. The increase or decrease in multiples of n.

D. The NST increased in multiples of n and greater than 2n

Question 4: A cell is at the end of meiosis II period have 8 single chromosome. Sets of chromosome 2n were:
A.4                 B.8                         C.16                             D.32
Question 5: According to the Additional Rules:

A. A = T; G = X 
B. A + T = G + X

C. A + D + T = G + D + T 
D. Only proper b and c.

Question 6: The process of DNA replication occurs in:
A Intermediate 
B. Early.


C. Middle.


D. Later 
E. End
Question 7: When observing the chromosomes in a patient, was found in chromosome 21 carries three pairs of chromosomes that sick people do?

A. Hemophiliac

B. Albinism

C. Down syndrome

D. Turner syndrome
Question 8: When breeding the parents differ in two pairs of contrasting traits genetically pure independent of each other, then at the F2:

A. 1 phenotypes
B. 2 phenotypes 
C. 3 phenotypes
D. 4 phenotypes
Question 9: Polyploidy mutants are mutants:

A. The chromosomes were excessive or lack some chromosomes chromosome 
B. chromosome structure is altered. 
C. The increase or decrease in multiples of n.
D. The NST increased in multiples of n and greater than 2n

Question 10: Percentage of phenotypes approximately 1: 1 in F​1will appear in the public mating?

A. Aa  x  AA
        B. Aa  x  aa
               C.  Aa  xAa

            D. AA  x  aa
II. Writing:

DNA fragments with A = 250 = 10% of the total number of DNA fragments nucleonic.

A.Calculate total nucleonic of DNA fragments.

B.Calculate number of hydrogen bonding of DNA fragments.
B. Answers

I. Multiple choices

	Questions
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answers
	D
	D
	D
	C
	A
	A
	C
	D
	D
	B


II. Writing
DNA fragments with A = 250 = 10% of the segment total nucleonic ADN. Inferred:

a. Totalnucleonic number of DNA fragments is: N = 2500 Nucleonic.

b. Have  number of each type of DNA fragments nucleonic.

A = T = 250

G = X = {2500- (250 x 2)}: 2 = 1000

Number of hydrogen bonding: H = 2A + 3G = 3500 (hydrogen bonding)
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